[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢

k Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXX XXX XKXXXXXXXXKXME/1-6700101-00001XX
Set0l for No.10052
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12}
NoO1 = A=12,4,8)
B=1{3,4,528,11,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}
No02 = A=1{1,4,56,10}
B=1{3,4,57,10,13,15}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
A=1{7,8, 14}
No03 = B=1{4,8,12,16}
C=1{1,2,3,6,12,13,16}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No04 = A=1{4,5,7,9,10, 14,16}
B=1{4,7,11,13,15}
I=4 N B 2=A-B 3=(4-B) U (B-4)
No05 = 4=4 v C S=4A U (BN C) 6=(49B)ynmn4dwvC)
7=(A-B) U (4-0C) 8=4 U C 9=C N (B-4)

),9:9:9,0:9:9,0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9.:9.0:9.:9.0:9.:9.0:9.:9.0:9:9.0:9:0.0:9.:9.0:9:9.0,9:9.0:9:9,0:9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0:9:9.0:0.:0.0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXXKXXXXMA/1-6700101-00002XX
Set0l for No.10064
U={4,5,6,7,8,9,10,11,12,13, 14,15}

No0I = A=1{6,10,13}
B=1{4,56,8}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No02 = A=1{1,2,3,6,7,10}
B=1{1,4,10}

U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
B A=1{6,9, 11,13, 14}
No0s3 = B=1{5,7,10, 14}
C=1{1,3,5,10,12, 14}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15}

No04 = A=1{9,10,14}
B=1{4,9,10,12,13,14, 15}
d=4 2=B -4 3=(4 N B)
No05 = 4=B S5=ANn(BUC) 6=(4NnB)uU (4n C)
7=(C-A4) n (C-B) 8=4 U B 9=4 N (C-B)

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/1-6700101-00003XX
Set0l for No.10076

U=1{4,5,6,7,8,9,10,11, 12,13, 14}

No0I = A=1{7,9,10,13, 14}
B=1{5,6,7,9}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=15,6,8,11,13, 14,15}

B=1{5,6,7,11,13,15}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=1{2,6,9,18}

No03 = B=1{1,6,8 11,12}
C=1{4,5,12,13,14,17}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12,13}
No04 = A=1{1,2,6,8,10,11}
B=1{6,10,13}
1=4 N B 2=B -4 3=(4 U B)
No05 = 4=4 N B S5=CuU(AdNnB) 6=(40UC)n (BuUC)

7=(B-A4) n (B-C) 8=4-C 9=(4-B)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXXXMA/1-6700101-00004XX
Set01l for No.10077

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}

No0I = A=1{3,6,7,9, 14,15}
B=1{58,11}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
No02 = A=1{4,10,11, 14}

B=1{2,3,4,5,12, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=1{3,11,12,15}

No03 = B=1{2,4,6,10,11, 13,16}
C=1{1,9,11,12,13}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14}
No04 = A=1{4,5,7,9,10}
B=1{4,6,8,9}
I=4 N B 2=B-4 3=(4-B) n (B-4)
No05 = 4=B S5=4U(BNC) 6=(4UB)n (4uU C)
7=(C-4) n (C-B) 8=C-4 9=(4-B)-C

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKKXXXKXKXKXXXKKKXXXXKXKXXXKKKKXKXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKKXKXKXKXMA/1-6700101-00005XX
Set01l for No.10083

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=10,1,2,5,6,11}
B=1{2,511}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=1{2,4,811,12,13, 14}
B=1{4,10,11}

U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }
A=1{3,7,8,9,15}

No03 = B=1{3,7,11, 12,16, 18}
C={3,15,16}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{3,567}
B=1{4,8,11,13,14, 15,16}
I=4 U B 2=A-B 3=4 UB
No05 = 4=4 N B S5=BNn(A4duUC) 6=(4nB)u (Bn C)

7=(B-A4) N (B-C) 8=4-B 9=Cn (B-4)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXXXXXKXXMA/1-6700101-00006XX
Set0l for No.10109

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}

No01 = A=1{5,6,9,13, 14}
B=1{4,10,11}
U=10,1,2,3,4,5,6,7,8,9,10,11, 12, 13}
No02 = A=13,56,8,11,13}
B=1{8,9,10}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=12,3,57,12,15}

No03 = B=1{4,7,8,10,12,13, 14}

C=1{6,13,16}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{51,8, 14,15}
B=1{4,9,13}
A=A 2=4-B 3=4 N B
No05 = 4=B v C S=A U (BN C) 6=(4A9vB)ynmn4dvC)
7=(4-B) U (4-C) 8=4-C 9=(4-B)-C

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKKKXXXXKKKXXXXKXKXXXKKKXKXXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00007XX
Set01l for No.10180

U=1{2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{4,56,7,10,11}
B=1{2,7,8,10,11}
U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14}
No02 = A=1{6,9,11,13, 14}
B=1{511,13}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{1,6,11,12, 13}

No03 = B=1{0,2,3,9,10,13}
C=1{2,3,515}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=16,7,12,15}
B=1{3,5,6,7,12,14,15}
I=4 U B 2=B-4 3=(4-B) U (B-4)
No05 = 4=BnC S=4AU (BN C) 6=(49v B)ynmn (4vC)
7=(C-4) n (C-B) 8=C-B 9=(4-B)-C

),9:9:9,0:9:9,0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9.:9.0:9.:9.0:9.:9.0:9.:9.0:9:9.0:9:0.0:9.:9.0:9:9.0,9:9.0:9:9,0:9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0:9:9.0:0.:0.0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXXXMA/1-6700101-00008XX
Set0l for No.10181

U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
No0I = A=1{3,4,6}
B=1{4,5,6,8,13}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}

No02 = A=1{4,6,9,10,11, 12,13}
B=1{3,6,8,9}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18}
A=1{3,12,14,18}

No0s3 = B=1{4,8, 12,13, 18}
C=1{2,4,6,13,14,16}
U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{2,3,5,6,7,16}
B={8,10,11, 12, 14}
I=4 N B 2=4-B 3=(4 N B)
No05 = 4=4 S=CuAnB) 6=(4UC)n (BuUQC)
7=(4-B) N (4-C) 8=4 U B 9=C n (B-4)

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKXXKXKXKXKXKXMA/1-6700101-00009XX
Set0l for No.10191

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}
No0I = A=1{5,7,9}
B=1{4,8,9,13, 14}
U=1{2,3,4,5,6,7,8,9,10, 11,12}

No02 = A=12,4,6,8}
B=1{3,4,6,7,9,10, 11}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{1,2,3,5,15}

No03 = B=1{1,3,9}
C=1{4,11,12,17}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{2,6,7,9,11}
B=1{3,6,7,9}
I=4 N B 2=B-4 3=4 UB
No05 = 4=C S5=BNn(4uUC) 6=(4nB)uU (Bn C)
7=(B-A4) U (B-C) 8=C-B 9=C N (4-B)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXKXKXKXMA/1-6700101-00010XX
Set01l for No.10281

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14}
No0I = A=1{3,811,12}
B=1{3,4,57,13}
U=1{2,3,4,5,6,7,8,9,10,11, 12}
No02 = A=1{4,6,7,8,10,11}
B=1{4,6,7,8,9}
U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
A=16,8,11,12,14,17,19}

No03 = B=1{2,9,12,15}
C={14,16,19}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No04 = A=1{4,511}
B=1{7,8,10,13,16}
I=4 N B 2=B-4 3=(4 N B)
No05 = 4=4 U B S5=BuUANnC) 6=(4UB)n (BuUC)
7=(4-B) N (4-C) 8=4 N B 9=(B-A4)-C

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKKXKXKXKXMA/1-6700101-00011XX
Set01l for No.10437

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}
NoOI = A=1{7,9,10}
B=1{5,7,8,9,13, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{7,9,12}
B=1{2,3,4,5,9,10,11}
U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17}
A=15,7,9,11,16,17}

No03 = B=1{3,5,10,16}
C=1{7,11,15}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No04 = A={2,11,12, 14,15}

B=1{11,13, 14,15}
I=4 N B 2=A-B 3=4 UB
No05 = 4=Bvu C S=4A U (BN C) 6=(49 B)ynmn(4vC)
7=(C-A4) n (C-B) 8=4 U C 9=4 N (C-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00012XX
Set0l for No.10493

U=1{1,2,3,4,5,6,7,8,9,10, 11,12}

No0l = A=1{4,10,12}
B=1{2,57,10}
U=1{1,2,3,4,5,6,7,8,9,10,11}
No02 = A=1{2,3,7,9,10}
B=1{1,2,3,6,9,10}
[U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 } |
A=1{2,3,5,9,11,16}
No03 = B=1{2,6,7,9,11}
L C=1{2,6,12,13} i
(U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15,16 } |
No04 = A=1{6,10,12}
L B=1{3,4,5,13,14,16} |
I=4 U B 2=A4-B 3=(4 N B)
No05 = 4=4 v B S=An(BuCC) 6=(ANnB)yu(dnC)
7=(4-B) U (4-0C) 8=B N C 9=B N (C-4)

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKKKXKXXXKKKXXKXXKXKXXXKKKXKXXKK



X
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00013XX
Set01l for No.10596

U=1{4,5,6,7,8,9,10,11, 12,13, 14}
No0I = A=1{7,8,11,13}

B=1{5,6,9}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15}

No02 = A=1{1,5,6,7,8,14}
B=1{1,3,5,6}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{1,3,6,14
No03 = B=1{4, 7,{8, 10, 11, 1}:%, 17}
C=1{4,7,8,9,10,11}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{4,5218,9}
B=1{1,2,3,11, 14}
1=B 2=A4-B 3=(4-B) N (B-4)
No05 = 4=B N C S5=4ANn (BUC) 6=(ANnB)uU(4dn C)
7=(A4-B) N (4-C) 8=4-C

9=(4-B)-C
):0:0.9:9:9.9.9,9:0.0.9.9.9.9.9:9:0:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.9.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.90.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXXMA/1-6700101-00014XX
Set01 for No.10599

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No0I = A=13,4,8,9,10,11}
B=1{2,8 11,12}
U=1{3,4,5,6,7,8,9,10, 11,12, 13}

No02 = A=1{4,8,10,11,13}
B=1{4,6,9,11}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18}
- A=1{4,7,12,14,17, 18}
No0s3 = B=1{6,7,17}

C=1{4,6,7,15,16,17, 18}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}

No04 = A=1{511,14,15}
B=1{509,11,12,15}
1=B 2=B-4 3=(4-B) U (B-4)
No05 = 4=B U C

S=Cn(A4AuB) 6=(ANnC)u(Bn ()
7=(4-B) U (4-C) 8=4 N B 9=(4-B)-C
[Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKXXXKXKKLXKXXKXKKKXKXXKKKXXKXXKKXKKXKXKXKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXXXXM4E/1-6700101-00015XX
Set0l for No.11068
U=1{2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{4,7,9,10,11}
B=1{3,59,11}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=15,7,9,13}

B=1{3,4,6,7,9,12}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
- A=15,10,18,19}
No03 = B=1{9,11,15,16,17,19}
C=1{58,9, 15,19}
U=13,4,5,6,7,8,9,10, 11,12, 13, 14, 15}

No04 = A=1{4,7,9,10,15}
B=1{4,5,6,10,12, 14}
I=4 N B 2=A-B 3=4 UB
No05 = 4=4 U C S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(B-A4) N (B-C) 8=4 U B 9=(B-A4)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-0001 6XX
Set0l for No.11423
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14}

No0I = A=1{5,7,12,14}
B=1{3,12, 14}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14}
No02 = A=1{4,7,13,14}

B=1{1,5,7,9,14}
U={3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17}

A=1{4,6,15
No03 = B:{4f6, 7,9, 1}7}
C=1{5,6,8,14}

U=1{4,5,6,7,8,9,10,11, 12,13, 14}
No04 = A=1{58,9,14}
B=1{5,6,9,11,12,13}
1=4 U B 2=4-B 3=(4-B) U (B-4)
No0S5 = 4=4 5=Cn(4UB) 6=(4nC)u(Bn C)
7=(B-A4) n (B-C) 8=4 n C 9=4 N (C-B)

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/1-6700101-00017XX
Set0l for No.11440

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}

No01 = A=16,7,8,9,12, 14}
B=1{3,58}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
No02 = A=1{5,11,13,18}

B=1{6,8,10,11,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{3,4,6,8,9,15}

No03 = B=1{3,16,17}

C=1{2,3,5,7,11,15,16}

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17 }

No04 = A=1{7,8,9,11,12,15}

B=1{10,15,16}
A=A 2=A-B 3=(4-B) N (B-4)
No05 = 4=C S5=CuAnNnB) 6=(4UC)n (BuUQCQC)
7=(4-B) U (4-C) 8=4 U C 9=4 N (C-B)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKXKXMA/1-6700101-00018XX
Set0l for No.11466

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

No0I = A=1{0,4,6,7,8}

B=1{0,2,4,7"
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14,15}

No02 = A=16,9,15}

B=1{2,3,4,5,9,14,15}
U=12,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
A=12,3,5,6,10,18}

No03 = B=1{4,5,14,15,16,17, 18}
C=1{2,5,7,18}
U=1{2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{6,8,10,12}
B=1{3,6,8,9,10}
A=A 2=B-4 3=(4 N B)
No05 = 4=C S5=ANn(BUC) 6=(4NnB)uU (4n C)
7=(C-A4) n (C-B) 8=4 n C 9=(B-C) -4

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00019XX
Set0l for No.11863

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13}

NoOI = A=16,8,10,11, 12}
B=1{3,4,6,10,11,13}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14}

No02 = A=15,7,9,13}
B=1{4,7,8,10, 11,12, 13}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
A=12,3,8,10,13}

No03 = B=1{3,13, 14}
C=1{1,2,5,14,15,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No04 = A=1{3,5,6,8,15}

B=1{2,7,12, 14}

A=A 2=B -4 3=(4-B) N (B-4)
No05 = 4=B N C S5=BNn(A4uUC) 6=(4nB)uU(Bn C)
7=(C—=4) U (C-B) 8=B -4 9=(4-C)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00020XX
Set0l for No.11967

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}

No0I = A=1{3,8,11,12, 14,15}
B=1{5,10,11}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12}
No02 = A=1{1,4,6,7}
B=1{4,9,11}

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=1{3,10,13,15}

No03 = B=1{6,11,13}
C=1{4,5,9,10,11,13,16}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{4,6,9,13,14}
B={8,10,15,16}
1=B 2=B-4 3=4 N B
No05 = 4=Bn C S=BuA4AnC) 6=(49vB)yn((Bu()
7=(B-A4) U (B-C) 8=B U C 9=B N (C-4)

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/1-6700101-00021XX
Set01l for No.12577

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}
NoOI = A=1{7,9,11,12,13}
B=1{4,8,10,12, 13,15}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
No02 = A=1{4,10,13,16,17, 18}
B=1{4,811,12,17}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14,15}
A=12,3,5,6,9,13}

No03 = B=1{3,4,6,7}
C=1{2,6,7,10,12}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{3,7,8,12}
B=1{2,3,5,6,12,13}
1=4 N B 2=B -4 3=(4 N B)
No05 = 4=4n C S=Cu(AdnB) 6=(49C)n(Bul)
7=(4-B) U (4-0C) 8=B -4 9=(4-C)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00022XX
Set0l for No.13031

U=1{3,4,5,6,7,8,9,10, 11, 12,13}
No0I = A=1{4,7,12}
B=1{3,4,8,9,13}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14,15, 16}

No02 = A=157,9,11, 14,15}
B=1{5,7,14}

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
NoD3 — A={11,14,15}

B=1{4,5,8,13,17}
C=1{4,5,9,10,11, 14,19}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14,15}

No04 = A=1{4,6,7,9,11}
B=1{5,6,9,13}
I=4 N B 2=B -4 3=(4-B) U (B-4)
No05 = 4=4n C S=An(BuCC) 6=(ANnB)yu(dnC)
7=(C-4) U (C-B) 8=4 N B 9=B N (C-A4)

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKKXKXXXKKKXXXXKXKXXXKKKKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00023XX
Set0l for No.13093

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}

No0I = A=1{3,4,6,7, 12}
B=1{3,513}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
No02 = A=13,5,6,7,8,9,12}
B=1{2,3,5)

U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=11,5,7,8,12,16}

No03 = B=1{0,11,17}
C=1{0,1,6,8,10,16,17}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No04 = A4=10,1,2,5,6,7,10}
B=1{2,4,5,8,10}
1=B 2=4-B 3=(4-B) N (B-4)
No05 = 4=4 v C S=An(BuCC) 6=(ANnB)yu(dnC)
7=(C-4) U (C-B) 8=B u C 9=(B-C) -4

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXXXXXMA/1-6700101-00024XX
Set0l for No.13163

U=1{2,3,4,5,6,7,8,9,10,11,12, 13}

No0I = A=16,9,12,13}
=13,5,6,7,9,13}
U= {o 1,2,3,4,5,6,7,8,9,10}
No02 = A=10,1,2,4,5,7,10}
B=1{57,8,10}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
A=13,5,7,10,12}

No03 = B=1{6,13,14}
C=1{3,6,7,8,9,10,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12}

No04 = A=1{1,5611}
B=1{1,8,12}

I=4 U B 2=A-B 3=(4 N B)

No05 = 4=4 N B S=A U (BN C) 6=(4A9v B)ynmn (4vC)
7=(C-4) U (C-B) 8=B -4 9=4 N (B-C)

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00025XX
Set0l for No.13403

U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=1{4,5,6,10}
B=1{0,2,3,6,7,11}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
No02 = A=1{4,8,10,15,16}
B=1{3,8, 12}
U={3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
A=15,6,11, 14}

No03 = B=1{3,4,58,10,11, 15}
C=1{4,5,8,9,14}
U={3,4,5,6,7,8,9,10, 11,12, 13}
No04 = A=1{9,12,13}
B=1{7,11,12,13}
A=A 2=4-B 3=(4 n B)
No05 = 4=4 N B S5=BNn(A4duUC) 6=(4nB)u (Bn C)
7=(A4-B) N (4-C) 8=C-B 9=B N (C-4)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXXXMA/1-6700101-00026XX
Set0l for No.13459

U=1{3,4,5,6,7,8,9, 10, 11, 12,13, 14, 15}
No0I = A=16,9,11,12, 14,15}
B=1{4,6,8,10,11}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12}
No02 = A=1{1,3,6,7,8,12}
B=1{1,5,7,8,9,11, 12}

[U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15} |
~ A=1{3,4,7,8,13, 14}
No03 = B=1{2,6,10,11,12}
L C=1{6,8,9, 11,13, 14,15} ]
[U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15} |
No04 = A=1{7,12,14}
L B=1{4,5,6,8,9,14,15} ]
1=B 2=B-A4 3=(4-B) U (B-4)
No05 = 4=B S5=BU(ANnC) .6=(4UB)n (BuU ()
7=(C-4) n (C-B) 8=4 u C 9=(C-B) -4

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKKXKXKXKXMA/1-6700101-00027XX
Set0l for No.13581

U=1{1,2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{2,57,8,12}
B=1{3,5,6}
U={1,2,3,4,5,6,7,8,9,10,11, 12,13}
No02 = A=1{4,9,11}

B=1{3,4,10,12}
U=12,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
A=1{2,4,512,18}

No03 = B=19,12,15, 16}
C=1{2,4,6,11,15,18}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18}
No04 = A=1{7,9,14,18}
B=1{4,8,11,13,17, 18}
d=4 2=4-B 3=(4-B) N (B-4)
No05 = 4=B S5=CuAnNnB) 6=(4UC)n (BuUQCQC)
7=(B-A4) N (B-C) 8=4 n C 9=Cn (B-4)

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00028XX
Set0l for No.13668

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No0I = A=1{4,6,14}
B=1{8,11,13,14}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}
No02 = A=16,8,9,11,12}
B=1{4,6,7,9,13,16}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17}
A=1{3,11,16}

No03 = B=1{4,5,6,8,9, 16,17}
C=1{0,1,9,11,13}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12,13}
No04 = A=1{1,2,4,7,9,11,13}
B=1{3,4,7,8,11,12}
1=4 U B 2=B -4 3=(4 N B)
No05 = 4=B S5=CuAnNnB) 6=(4UC)n (BuUQC)
7=(B-A4) U (B-C) 8=B-C 9=(C-4)-B

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXMA/1-6700101-00029XX
Set0l for No.13716

U=1{2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{4,7,8}
B=1{5,7,8,9,11}
U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14}

No02 = A=1{3,4,6,7,9,10,12}
B=1{3,4,6}

[U=1(3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17} |
A=1{3,5,7,8,15,16, 17
No03 = B:{{6, 7,8, 10,11,17}}

L C=1{3,4,5716} |

[U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17 } |
No04 = A=1{4,8,11,12, 14,15}

L B=1{7,9,12, 14} ]

d=4 2=B-4 3=(4-B) U (B-4)
No05 = 4=BnC S=Cu(AdnB) 6=(49C)n(Bul)
7=(4-B) U (4-0C) 8=B n C 9=(C-B) -4

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00030XX
Set0l for No.13720

U=1{4,5,6,7,8,9,10,11,12,13, 14}

No01 = A=1{5,7,11,14}
B=1{6,10,12}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}
No02 = A=1{1,4,5,6,8,10}
B=1{5,6,10}

U=10,1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18, 19}
A=1{2,12,13,16, 18,19}

No03 = B=1{12,16,19}
C=1{2,3,4,6,15,17,18}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12,13}
No04 = A=1{1,2,12}
B=1{0,4,7,9,13}
A=A 2=A4-B 3=(4 U B)
No05 = 4=4n C S=BuA4AnC) 6=(49vB)yn((Bu()
7=(B-A4) N (B-C) 8=C-B 9=B N (4-C)

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKXXXXKKKXXXXKXKXXXKKKXKXXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKKXKXKXKXMA/1-6700101-00031XX
Set01l for No.14307

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=10,4,5,7,9}
B=1{7,10,11}
U=1{4,5,6,7,8,9,10, 11, 12,13, 14, 15, 16, 17}
No02 = A=14,57,8,10,11,13}

B=1{5,11,12,15,16}
U=10,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20 }
A=1{2,10,11,20}

No03 = B=10,8,10, 14, 15}
C=1{1,9,14,17,18,19}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{3,4,6,7,10,11,12}
B=1{5,8,9,10}
I=4 N B 2=B-4 3=4 UB
No05 = 4=4n C 5=4Nn(BUC) 6=(4ANB)u (4n C)
7=(A4-B) N (4-C) 8=B N C 9=(B-A4)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00032XX
Set0l for No.14595

U=10,1,2,3,4,5,6,7,8,9,10}
No0I = A=12,3,9}
B=1{1,2,8,9,10}
U=13,4,5,6,7,8,9, 10, 11, 12, 13, 14}

No02 = A=1{5,7,9,10,12, 14}

B=1{10,11,12}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=1{8,11, 14
No0s3 = B={1, ; 5,6, 12,}13}
C=1{3,9,10,12,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No04 = A=1{2,3,12,13,15,16}
B=1{211, 14}
I=4 N B 2=B-A 3=4 N B
No05 = 4=4n C S=A U (BN C) 6=(4A9v B)ynmn (4vC)
7=(C-4) n (C-B) 8=B -4 9=C N (4-B)

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXXXKKKXKXXXKKKXXKXXKXKXXXKKKXKXXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXKXKXMA/1-6700101-00033XX
Set0l for No.14598

U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13}

No0I = A=1{6,8,10}
B=1{6,8,12,13}

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17}

No02 = A=1{10,12, 14,15}
B={11,13,14}
U=1{2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{2,4,11,12,13, 14,19
No03 = B{:{2,7,8,11,12, 141 }
C=1{3,6,8,17}
U=1{2,3,4,5,6,7,8,9,10,11, 12,13, 14, 15}
No04 = A=1{2,3,5,10,11}
B=1{6,7,9,10,12, 13}
I=4 U B 2=A-B 3=4 N B
No05 = 4=4 v C S=Bu(A4dnC) 6=(49vB)yn((BuC(C)
7=(C-4) n (C-B) 8=4-B

9=C n (B-4)
):0:0.9:9:9.9.9,9:0.0.9.9.9.9.9:9:0:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.9.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.90.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXKXKXXKXXMA/1-6700101-00034XX
Set0l for No.l1l4612

[U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12} |
No0l = A=1{3,4,7,9}
L B=1{3,4,9,10,11} |
(U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14} |
No02 = A=1{6,7,8,13,14}
L B=1{4,6,7,9,11,13, 14}
U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}
A=1{5,6,7,9,11,15}
No03 = B=1{2,6,10,14}
C=1{3,5,7,9,12,14,15}
U=1{2,3,4,5,6,7,8,9,10,11, 12}

No04 = A=1{2,517,9}
B=1{4,7,8,9,10,11,12}
1=4 U B 2=A-B 3=(4-B) N (B-4)
No05 = 4=B

S5=CuAnNnB) 6=(4UC)n (BUC)
7=(C=4) n (C-B) 8=C-B 9=4 N (C-B)
X [Page = 0017] XXXXXXXXXXXXXXXXKXXXXXKXXXXXXKXKXXXKXKXXKXKXKXKXKXKKKKXKXKXKKXKKXKXKXKKKKX




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXKXMA/1-6700101-00035XX
Set0l for No.14624

U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
NoOI = A=1{3,7,11,13}
B=1{6,8,9,12, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}
No02 = A=1{1,2,3,4,9}
B=1{1,3,5,6,10,11}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
A=1{9,11,13}

No03 = B=13,57,8,9,11,12}

C=1{0,2,3,4,12}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13}

No04 = A=1{1,4,10,12,13}
B=1{1,5,10,12}

1=B 2=B-4 3=4 N B

No05 = 4=4 v B S=An(BuCC) 6=(ANnB)yu(dnC)
7=(C-4) n (C-B) 8=4-B 9=C N (B-4)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00036XX
Set0l for No.l4641

(U=1{1,2,3,4,5,6,7,8,9,10, 11,12} |
No0l = A=1{2,4,5,6,8,12}
B=1{2,7,9,11,12} |
U=1{4,5,6,7,8,9,10, 11,12, 13, 14} |
No02 = A=1{5,9,10,13, 14}
B=1{6,7,12,13} i
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
A=1{1,4,5,6,10,13}

No03 = B=1{4,7,10,12}
C=1{1,5,10,12, 14}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15}
No04 = A=1{5,9,14}
B={8,10,11,12, 13}
1=4 U B 2=A-B 3=(A-B) N (B—A)
No05 = 4=4 N B SI=An(BulC) 6=(AnNnB)udnC)
7=(B-4) U (B-C) 8=4 U B 9=(4-C)-B

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKXKXKXXXKKKXXXXKXKXXXKKKXKXKXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKKXKXKXKXMA/1-6700101-00037XX
Set0l for No.14681

U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13}

NoOI = A=1{3,5 12}

B=1{3,5,9,10}
U=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15, 16}

No02 = A=13,6,16}

B=1{4,6,8,10,11,12,15}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A=10,1,3,4,5 11,13}

No03 = B=1{3,9,12,13}
C=1{2,4,5711,14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{1,2,11}
B=1{2,8,9,10}
A=A 2=A4-B 3=4 N B
No05 = 4=4n C S5=4ANn(BUC) 6=(4NnB)uU(4dn C)
7=(C-4) n (C-B) 8=B -4 9=C N (B-A4)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXX XXX XKXXXXXXXMA/1-6700101-00038XX
Set0l for No.14688

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No01 = A=1{7,8,10}
B=1{4,5,6,9,12}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=1{5,7,10,12, 14, 15,16}
B=1{8,13,16,17}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A=1{2,4,510,15}

No03 = B=1{4,8,12,16}
C=1{5,8,10}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=10,2,57,11}
B={5,9,11}
1=4 N B 2=4-B 3=(4-B) N (B-A4)
No05 = 4=Bvu C S=Cn(A4AuUB) 6=(ANnC)u(Bn ()
7=(B-A4) n (B-C) 8=4-C 9=4 N (B-C)

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXKXKXKXKXMA/1-6700101-00039XX
Set01l for No.14703

U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13}
NoOI = A=1{1,2,6}
B=1{4,58,9, 11,13}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
No02 = A=15,6,8,10, 14,16}
B=1{7,8,9, 14,15}
U={3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17}
A=18,9,11, 13}

No03 = B=1{3,8,9,16,17}
C={8,11,13}
U=1{4,56,7,8,9,10,11, 12,13, 14,15}
No04 = A={4,11,14,15}
B=1{4,8,9,11,13,15}
I=4 N B 2=B -4 3=4 UB
No05 = 4=4 v B S=Bu(A4dnC) 6=(49vB)yn((BuC(C)
7=(C-A4) U (C-B) 8=4-B 9=4 N (C-B)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA/1-6700101-00040XX
Set0l for No.14714

U=1{3,4,5,6,7,8,9,10,11, 12,13}
No0I = A=13,7,8,9,13}
B=1{4,9,11,13}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=12,11,12, 14}
B=1{0,3,8,12, 14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=17,8,9,14,16}

No0s3 = B=13,6,8, 14}
C=1{4,7,10,11,12, 13,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{2,4,58,9,10,13}
B={3,10, 12,13}
I=4 N B 2=A-B 3=(4 N B)
No05 = 4=A4 S5=4A U (BNC) 6=(4UB)n (4u C)
7=(C-4) U (C-B) 8=4-C 9=(B-A4)-C

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXXXKKKKKK
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